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Test Case Specification

Admin Test
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- Test Case Specification

Admin Test

T1_NPS_STC_000_000

(AdminData) Admin Reg userA

“UserA is already registered”

T1_NPS_STC_000_001

(AdminData) Admin Reg userB

“UserB is successfully registered”

T1_NPS_STC_000_005

(AdminData) Admin Del userZ(no exist)

“userA is not exist in User database”

T1_NPS_STC 000 015

(AdminData) Admin Ink 3100(Current InK = 100)

“Range of Ink is 1 to 3000”

T1_NPS_STC_000_013

(AdminData) Admin Ink -50(Current InK = 0)

“Range of Ink is 1 to 3000”

T1_NPS_STC 000 011

(Admin Data) Admin A4 50(Current A4 =50)

Current Paper = 100
Status => “Charging”

T1_NPS_STC_000_017

(AdminData) Paper ST Z 2 Al Admin ink 500

“Printer is charging now”
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Test Case Specification

User Test
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- Test Case Specification

User Test

T1_NPS_STC_001_005

(UserData) userB a.txt userB7} DBO]| Q! 2 A|

“Preprocess Success”
RP=(a.txte] ¥4 3 F)
RI=(a.txto| A3 )

T1_NPS_STC_001_006

(UserData) aaaa a.txt aaaaZ| DBOj| Q=2 A]

“Preprocess Success”
RP=(a.txte] ¥4 3 F)
RI=(a.txt2] 43 )

T1_NPS_STC_000_007

(UserData) userD d.txt (no exist in User DB)

“userD is not exist in User DB”

T1_NPS_STC_000_008

(UserData) userZ d.txt (no exist in User DB)

"userZ is not exist in User DB”
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- Test Case Specification

Print Test

RP = Remain Paper
Rl = Remain Ink

RQP = Require Paper
RQI = Require Ink

T1_NPS_STC_002_000

(UserData) userA abc.txt
RP =20 RI =500 RQP =14 RQl =400

RP=6RI=100
Status = “Printing”
“data lobby start”

T1_NPS_STC_002_001

(UserData) userA abc.txt
RP =4 Rl =2500 RQP =24 RQl =80

“paper low Reject command”

T1_NPS_STC_002_003

(UserData) userA abc.txt
RP =60 RI = 1500 RQP = 24 RQIl = 2000

“Ink low Reject command”

T1_NPS_STC_002_028

(UserData) userA aa(RI 300 RP 24)

“File is not exist”
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- Test Case Specification

Print Test

T1_NPS_STC_002_017 (UserData)

userA team1.txt(RI 300 RP 24)
userB a.txt(RI 300 RP 24)
userA b.txt(RI 1500 RP 9)
userB c.txt(RI 450 RP 15)
userA a.txt(RI 300 RP 24)
Remain Paper = 100

Remain Ink = 3000

3tHE| =2 A| cancel

Remain Paper =4

Reamin Ink = 150

Status = “Printing”
“Preprocess”
“Preprocess”
“Preprocess”
“Preprocess”
“Preprocess”

“Current Print is stopping”

T1_NPS_STC_002_010

== (UserData) userA a.txt

(AdminData) Admin ink 3000 Current ink =0

Status => “Recharging”
sHeR =

CH7|Bo| ZEIE A%}

15




c
@)
—
O
O
=
O
()
Q.
(Vp)
()
%)
O
®
f—
(72]
)
—

Screen Test

16



- Test Case Specification

Screen Test

T1_NPS_STC_003_002 |(AdminData) Admin A4 80 1A 0}C} Remain Paper 10 =7}
T1_NPS_STC_003_007 | (AdminData) Admin A4 -10 Screen0f| = O} 2L = AUO|LIX| U S

T1_NPS_STC_003_007 | (AdminData) Admin Ink 1000 |1ZX0O}C} Remain Ink 1002 =7}
T1_NPS_STC 003 011 | (UserData) userA abc.txt Status =>"printing”

Printing = “userA 21X} = =1= Q11| 0| X]
/Z T 0| X]”
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Test Case Specification

Screen Test

T1_NPS_STC_003_016 |(UserData) Status =>"printing”
userA abc.txt Printing = “userA $iXj] &3 =Ql1j| 0| X|
userB b.txt /S 4| 0| X|”
userA a.txt Wait Queue = “userB b.txtH| 0| X| 5=
aaaa a.txt userA a.txtIj| O| X| 5=
userA b.txt aaaa a.txtmj| O| X| =
userA b.txtI{| O| X| ="
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System Test Result

Whole Test Cases : 85

(Admin Test — 21 User Test — 13 Print Test — 32 Screen Test - 17)

Pass : 74

Fail : 11 (Print Test - 9 Screen Test - 2)
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Fail Result

Remain Paper7| 22 & ot 4
E=0| UYE|=2F
Remain Paperg}0| S

| . I
Display

Remain Paper | -20

Remain Ink | 2470

Time |17:36:59
Status |waiting
e

paper low Reject command!
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Fail Result
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System Test Result
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] | Clatd - oAt 1 20151123172251 txt - 2 &
Fail Result | mem =zE M ZLE BERE M40 27
a a a a 4 = a a
a a a a 4 = a a
a a a a 4 = a a
Al &=HEL2 11 s a a ala & a a
a a a
R s R k- ol IS -
Require Paper= 2™ E|OOFSt=0| | 2 & a ala a a =
Require Paper7} 1%t 2 L} 2LC}. 3 a a 4 : : : :
- a a a a
X fl'oLiE B} =0 a a a ala a a a
AN EHE2 115 20| &
a = a a
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Fail Result

e

§ "/Shome/happy/20155E_B T1,/Main.exe’
NP5 15 started!!

S o = o You can input commnad
oAl TIAS QA EAM7I G Ao =

ol=q cancel
Cancel == AI - Current Print 1s stopping
Current Print is stopping &=
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